6.1 - Surface Area - Day #3.notebook December 04, 2015

Calculate the surface area in meters.
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Calculate the surface area in millimeters.
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Calculate the surface area in millimeters.
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Don't forget to multiply by two when
finding the overlap!!!
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The diagram shows the cross-section of a pipe of length 30 cm.
The inner diameter of the pipe 15 20 cm and the outer diameter 15 30 cm.

%Crcv l"\d [ _— fQI

> +2Tvh s

WG 0
| +-Lt7 _MA'\LT—%J_
= (olagcmtg SA= ATV 3Lt vk

= a(3~|q)(‘0)a+2(3\
= -H)(w)(sa
~a3-4)(60)+ 3

O = 63 pigigh 0

33

Yem




6.1 - Surface Area - Day #3.notebook December 04, 2015
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